Proposition 1. For every LTL formula ,
(1) o EFp > igi o,

(b) ol Gy = Vil o,

(¢) XFp = FXo,

(d) XGyp = GXyp,

(¢) FFp =Fop,

(f) GGy = Go,

(9) FGFp = GFyp,

(h) GFGyp = FGo.

the following holds:



Proof.

o E=Fp <= 3i (o' |E o AVEk <io" |=true)
<= Ji (¢' = p AVk < i true)
<~ Jio' .

oGy < o} F-yp
= (0 | Fp)
= ~@io k)
= =3 ~(o" F )
= Vio' .

0= XFp < o' EFyp
= i) Ey
= Ji(0) EFy
«— Jio' Xy
— o = FXo.

XGyp = X-F-p

= ﬁFXﬁgp
GXop.

o EFFp <= Jio' =Fop
= i (3 (¢") F o)
— Fi,j o o
— Jkot o
< o E=Fo.
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GGy = F~(-F-p)
= ﬂFF—!(p

B

= Go.

We have
FGFo.

o=

Fy. Assume

trivially implies 0 = FGF¢

GFo triv

te that o =

(g) No

~ itk
i Vy ko =
7Erere (:>:> Vi Jk git+k) =@
J
E A X
— VjH o
<= o = GFo.

GFGyp Trar
—\GF—\SO
FGo.



